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stacks and recursion, procedure call

problem 1

input: arg0 arg1
output: result
modifies: arg1 result

problem 2

input: x
output: val
modifies: x val

problem 3

aexpb
 (save arg0)
 (save continue)
 (assign arg0 (const 2.71828))
 (assign continue (label aexpb-after))
 (goto (label expt))
aexpb-after
 (restore continue)
 (restore arg0)
 (assign result (op *) (reg arg0) (reg result))
 (goto (reg continue))

problem 4

list-copy
 (test (op null?) (reg arg0))
 (branch (label list-copy-done))
 (save arg0)
 (save continue)
 (assign arg0 (op cdr) (reg arg0))
 (assign continue (label list-copy-after))
 (goto (label list-copy))
list-copy-after
 (restore continue)
 (restore arg0)
 (assign tmp (op car) (reg arg0))
 (assign result (op cons) (reg tmp) (reg result))
 (goto (reg continue))
list-copy-done
 (assign result (const ()))
 (goto (reg continue))



problem 5

list-ref
 (test (op =) (reg arg1) (const 0))
 (branch (label list-ref-done))
 (save continue)
 (assign arg0 (op cdr) (reg arg0))
 (assign continue (label list-ref-after))
 (goto (label list-ref))
list-ref-after
 (restore continue)
 (goto (reg continue))
list-ref-done
 (assign result (op car) (reg arg0))
 (goto (reg continue))

problem 6
 
sum-of-exps
 (assign result (const 0))
sum-of-exps-top
 (test (op null?) (reg arg0))
 (branch (reg continue))
 (save arg0)
 (save continue)
 (save result)
 (assign arg1 (op car) (reg arg0))
 (assign arg0 (const 2.71828))
 (assign continue (label sum-of-exps-after-expt))
 (goto (label expt))
sum-of-exps-after-expt
 (assign tmp (reg result))
 (restore result)
 (restore continue)
 (restore arg0)
 (assign result (op +) (reg result) (reg tmp))
 (assign arg (op cdr) (reg arg0))
 (goto (label sum-of-exps-top))


